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3)6x+ ay+ 6y+ ax= 6(x+ y)+ a(y+ x)=

= (x+ )6+ a)

4)8x- 8y+ xz- yz= 8(x- y)+ z(x- y)=

(x- »)8+ 2);

(n+ D)(m- 1)

6)ab ac- 2b+ 2c= a(b- c)- 2(b- c)=
= (b- c)(a- 2).
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A3)9a’h- 3a*+ 3b*- b= 3a’(3b- 1)+ b(3b- 1)=
= (3b- 1)(3a’+ b)
N8a’- 2ab- 4ac+ be= 2a(4a- b)- c(4a- b)=
= (4a- b)2a- c);
5)2[)3 7h’c- 4b+ 1dc= b*(2b- Tc)- 2(2b- Tc)=
(2b- Tc)(b*- 2)
6)6x +4x°y- 9x’y- 6y = 2x°(3x’+ 2y7)- 3y(3x’ + 2y7) =

-=_(3-x +299)(2x7- 3y).
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NeNe480(1,2; 3, 3),
482 (1,2; 3, 3), 484(3-6),
485(N0 YPOBHSAM).




IlomalluHee 3agaHue

NeNe481, 483, 485,
3apgaHue Ne3 «[lpoBepbTe

cebsa»
496 —-HeYeTHbIe 1BapunaHT,

YeTHbIe 2 BapUaHT.




